
#-ms :

① 43 , -2 , 2) · [1 ,
0

,
1)

② (i +j) . (2j + k)

③ Find argl blu

a) -

-ems
① [3 ,

-2
,
2) . (1 , 0 , 1)

② (i +j) . (2j + k)

③ Find argle blu

a) (3 , , 1)
,
(2 , - 4,2)

3) 10 ,
k

,
>' - 107

④ For what values of b arc the following ortho :

(4 , -2 ,7) , (b
2

,
3
, 07

⑤ Simplify (v+w) · (v+w) - (ev) N

⑥ If a
,
f st . Iel=)

,
(1f()=1

,
(2=f1 = 3/2

,
what

is lle-fl ?

⑦ Comput Unri ,
U
= <1, 31

,
v=( , " , 03

⑧ Find all argles of the following triangle :

(2 , 7)

CItco
⑨ If (Iv+wll=lv-wll

,
than V is orthogonal to w


